2017 FEAEEMBERAR

NBAH:2020%:10H28H (/K)

FEB SR REEH | TBAELEER | BEER | BE=X
AXFER 1794 1624 155% 95.7%
e BRAXRRFZR 97% 904 89% 98.9%
a2 —vyarxXfER 874 83% 8% 94.0%
ERPR /IR AL 1004 81% e 95.1%
AT A MFER 239% 232% 231% 99.6%
YAV AV MFE A~ A FFER 1044 1024 1014 99.0%
EERRETR A FER 514 504 504 100.0%
At 8574 8004 7814 97.6%
2017 FEAFELEFRER
FEB SR RF e SR EERZ | ERMER | BF | G5t
AFR 1% 1% 0% 1% 0% 3%
e RO RBEFR 0% 0% 0% 0% 04 0%
A2z —varXfFER 04 0% 0% 1% 0% 1%
BRI/ DB 14 1% 1% 44 0% | 13%
TRV A NFER 0% 0% 0% 1% 1% 2%
YAV A NFE B~ A FFER 0% 0% 0% 0% 0% 0%
EEFERIEY R AV FER 0% 0% 04 1% 0% 1%
At 8% 2% 1% 84 1% | 20%




2018 FEAEEMBERAR

NBH:2020%:10H28H (/K)

FE =ab ] ZREEH | MBEEEER | BEEK FLERER
AR 1474 1294 1274 98.4%
e BRI RB SR 1094 994, 954, 96.0%
3 93 2= —3 bR 1154 1074 1064 99.1%
BEpR IR R 1224, 954, 924 96.8%
C . TR U Ay hER 1684 1624 1604 98.8%
VxR AV NREE - ——— =
EFBIET R A v R 914 874 874 100.0%
. BT A 2R 1304 1264 1254 99.2%
B3I 1271423 . =
AT 2T 4 FHA VER 184 184 184 100.0%
&5 9004 8234 8104 98.4%
XEXT A VERORBEIF, BRI AV NERIZEEEEZESD,
2018 FEAREAEFEEBR
FER R KFRE FER BEIAT | B | 8% | &3
AR 14 14 0% 0% 0% | 24
s RS s ] 0% 14 0% 0% 0% | 1%
" R e S ] 0% 0% 0% 1% 0% | 1%
Hy = i=ab ] 11% 0% 0% 6% 0% 174
S . T2 U Ay hER 0% 0% 0% 0% 0% | 0%
VxR AV NRE - ——— =
EEEE T 2O X v R 04 0% 0% 0% 0% | 0%
o BT H A 2R 0% 0% 0% 0% 0% | 0%
B3I 12714 FF . =
A 2T 4 THA UER 04 0% 0% 0% 0% 0%
&5t 124, 2% 0% 14 0% 214

KEXT A VERORREIL, BRI P EREEEZE T,




2019F EA A pRAR

NFAH:20204:10H28H (7K)

FE FR REEH | BREEEN FLERE LR
AR 1224 1094 1014 92.7%
— WAL RIFFFR} 1204 1054 10244 97.1%
%LL
- X a=Ar—3a 2R 934 83% 83% 100.0%
BEpR D B ) 1124 814 804 98.8%
L o S 1674 1614 1584, 98.1%
RAT AV NFEE ———— -
e e A 544, 524, 514 98.1%
Y BT A 2R 1504 144%, 144%, 100.0%
NI 1274 FF — — =
03 2T 4 YA V2R 364, 354 354, 100.0%
&5t 8544, 7704, 7544, 97.9%

K2019F9AZEELEZ BT
MR FI2A6HFE [XEHMERICHEITZRFEEED [BHBE] OBRYFEWLIIZOVWT @BHF) | ICESWTEH,

2019 F EAREAEF HIER

Aty B PN g GERAS | =PI | B3 | A3

ASTER 1% 0% 0% 1% 0% | 24

- BA L EB 2R 0% 0% 0% 1% 14 | 24

- 32— LR 0% 0% 0% 2%, 2% | 4%

B bR LIRS 9%, 0% 0% 54, 04 | 144

L - A 0% 0% 0% 1% 12 | 2%
YAV A Y NFEE ——— -

HSERRIE Y 20 A v P 2F 0% 0% 0% 0% 1% | 1%

W BT A 2R 0% 0% 0% 1% 04 | 14
BT 127 14FF — — =

A 2=T4 74 0FR 04 04 0% 14 0% 1%

&5t 104 0% 0% 12%, 54 274

XKEBAXT AV EROEBEIL, BT IX Y b EREEEZET,



